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[Question ID = 301][Question Description = Q01_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]
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[Question ID = 302][Question Description = Q02_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1205]
2. 2 [Option ID = 1206]
3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]
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[Question ID = 303][Question Description = Q03_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1209]
2. 2 [Option ID = 1210]
3. 3 [Option ID = 1211]
4. 4 [Option ID = 1212]
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[Question ID = 304][Question Description = Q04_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]
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[Question ID = 305][Question Description = Q05_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
4. 4 [Option ID = 1220]
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[Question ID = 306][Question Description = Q06_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
3. 3 [Option ID = 1223]
4. 4 [Option ID = 1224]
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[Question ID = 307][Question Description = Q07_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]
4. 4 [Option ID = 1228]
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[Question ID = 308][Question Description = Q08_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]
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[Question ID = 309][Question Description = Q09_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1233]
2. 2 [Option ID = 1234]
3. 3 [Option ID = 1235]
4. 4 [Option ID = 1236]
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[Question ID = 310][Question Description = Q10_33_Dogri_SHAAN_20NOV_Shift1_S1]

1. 1 [Option ID = 1237]
2. 2 [Option ID = 1238]
3. 3 [Option ID = 1239]
4. 4 [Option ID = 1240]
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[Question ID = 311][Question Description = Q11_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1241]
2. 2 [Option ID = 1242]
3. 3 [Option ID = 1243]
4. 4 [Option ID = 1244]
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[Question ID = 312][Question Description = Q12_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1245]
2. 2 [Option ID = 1246]
3. 3 [Option ID = 1247]
4. 4 [Option ID = 1248]
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[Question ID = 313][Question Description = Q13_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]
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[Question ID = 314][Question Description = Q14_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]
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[Question ID = 315][Question Description = Q15_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]
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[Question ID = 316][Question Description = Q16_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]



4. 4 [Option ID = 1264]
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[Question ID = 317][Question Description = Q17_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

18
: el Siae, =i weel o RFeafad & guns qediR der el 3g-ara T
(1) ool 37T (2) AMAISK
() & (4)  FAHT o ererer & gree S

[Question ID = 318][Question Description = Q18_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]
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[Question ID = 319][Question Description = Q19_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]
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[Question ID = 320][Question Description = Q20_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]
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[Question ID = 321][Question Description = Q21_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]
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[Question ID = 322][Question Description = Q22_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]
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[Question ID = 323][Question Description = Q23_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]
3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]
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[Question ID = 324][Question Description = Q24_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]
3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]
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[Question ID = 325][Question Description = Q25_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]
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[Question ID = 326][Question Description = Q26_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]
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[Question ID = 327][Question Description = Q27_33_Dogri_SHAAN_20NOV_Shift1_S1]



1 [Option ID = 1305]
2 [Option ID = 1306]
3 [Option ID = 1307]
4 [Option ID = 1308]
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[Question ID = 328][Question Description = Q28_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]

29) "I ST ¥, F ST H 3ic 3 g S ¥ e eRa. oA A A e gr e v 1 e

T
(1)  dHT el T | (2) YeTeacdeIHT el U |
(3)  eafel - 3R T | (4) CIEwRTITE el T

[Question ID = 329][Question Description = Q29_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]
3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]
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[Question ID = 330][Question Description = Q30_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1317]
2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]
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[Question ID = 331][Question Description = Q31_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1321]
2. 2 [Option ID = 1322]
3. 3 [Option ID = 1323]
4. 4 [Option ID = 1324]
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[Question ID = 332][Question Description = Q32_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1325]
2. 2 [Option ID = 1326]
3. 3 [Option ID = 1327]
4. 4 [Option ID = 1328]
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[Question ID = 333][Question Description = Q33_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1329]
2. 2 [Option ID = 1330]
3. 3 [Option ID = 1331]
4. 4 [Option ID = 1332]
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[Question ID = 334][Question Description = Q34_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1333]
2. 2 [Option ID = 1334]
3. 3 [Option ID = 1335]
4. 4 [Option ID = 1336]
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[Question ID = 335][Question Description = Q35_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1337]
2. 2 [Option ID = 1338]
3. 3 [Option ID = 1339]
4. 4 [Option ID = 1340]
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[Question ID = 336][Question Description = Q36_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1341]
2. 2 [Option ID = 1342]
3. 3 [Option ID = 1343]
4. 4 [Option ID = 1344]
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[Question ID = 337][Question Description = Q37_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1345]
2. 2 [Option ID = 1346]
3. 3 [Option ID = 1347]
4. 4 [Option ID = 1348]
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[Question ID = 338][Question Description = Q38_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]
3. 3 [Option ID = 1351]
4. 4 [Option ID = 1352]
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[Question ID = 339][Question Description = Q39_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1353]
2. 2 [Option ID = 1354]
3. 3 [Option ID = 1355]
4. 4 [Option ID = 1356]

40 Zaatt sware & A -

(1)  NEEIcHEF ST T | (2) TehdicHSR Rl ¥ |
(3) Tafsggdrv (4) CHTEACHF GGV |

[Question ID = 340][Question Description = Q40_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4. 4 [Option ID = 1360]
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[Question ID = 341][Question Description = Q41_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1361]
2. 2 [Option ID = 1362]
3. 3 [Option ID = 1363]
4. 4 [Option ID = 1364]
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[Question ID = 342][Question Description = Q42_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1365]
2. 2 [Option ID = 1366]

3. 3 [Option ID = 1367]
4. 4 [Option ID = 1368]
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[Question ID = 343][Question Description = Q43_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1369]
2. 2 [Option ID = 1370]
3. 3 [Option ID = 1371]
4. 4 [Option ID = 1372]
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[Question ID = 344][Question Description = Q44_33_Dogri_SHAAN_20NOV_Shift1_S1]

1. 1 [Option ID = 1373]
2. 2 [Option ID = 1374]



3. 3 [Option ID = 1375]
4. 4 [Option ID = 1376]
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[Question ID = 345][Question Description = Q45_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1377]
2. 2 [Option ID = 1378]

3. 3 [Option ID = 1379]
4. 4 [Option ID = 1380]
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[Question ID = 346][Question Description = Q46_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1381]
2. 2 [Option ID = 1382]
3. 3 [Option ID = 1383]
4. 4 [Option ID = 1384]
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[Question ID = 347][Question Description = Q47_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1385]
2. 2 [Option ID = 1386]
3. 3 [Option ID = 1387]
4. 4 [Option ID = 1388]
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[Question ID = 348][Question Description = Q48_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1389]
2. 2 [Option ID = 1390]
3. 3 [Option ID = 1391]
4. 4 [Option ID = 1392]
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[Question ID = 349][Question Description = Q49_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4. 4 [Option ID = 1396]
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[Question ID = 350][Question Description = Q50_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398]
3. 3 [Option ID = 1399]
4. 4 [Option ID = 1400]
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[Question ID = 351][Question Description = Q51_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]

3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]
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[Question ID = 352][Question Description = Q52_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]
3. 3 [Option ID = 1407]
4. 4 [Option ID = 1408]
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[Question ID = 353][Question Description = Q53_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

54) | qurEfa Al T 3TeHRT o
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[Question ID = 354][Question Description = Q54_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1413]
2. 2 [Option ID = 1414]

3. 3 [Option ID = 1415]
4. 4 [Option ID = 1416]
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[Question ID = 355][Question Description = Q55_33_Dogri_SHAAN_20NOV_Shift1_S1]
1 [Option ID = 1417]
2 [Option ID = 1418]
3 [Option ID = 1419]
4 [Option ID = 1420]
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[Question ID = 356][Question Description = Q56_33_Dogri_SHAAN_20NOV_Shift1_S1]
1 [Option ID = 1421]
2 [Option ID = 1422]
3 [Option ID = 1423]
4 [Option ID = 1424]

A w N -

7 &I A YUY D

A. @ 92 HgTHRd IR 3¢Rd U]
B. G &X 3 &l fa=l SRRT U
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[Question ID = 357][Question Description = Q57_33_Dogri_SHAAN_20NOV_Shift1_S1]
1 [Option ID = 1425]
2 [Option ID = 1426]
3 [Option ID = 1427]
4 [Option ID = 1428]
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[Question ID = 358][Question Description = Q58_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1429]
2. 2 [Option ID = 1430]
3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]

59) Soc 3Tfeshdrane o
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C. O 5 UErHAd a1% Taedl 1ar|
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[Question ID = 359][Question Description = Q59_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]

0 el :
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3.A,Cd DBIFAI
4.B,Cd DADAI

[Question ID = 360][Question Description = Q60_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1437]
2. 2 [Option ID = 1438]
3. 3 [Option ID = 1439]
4. 4 [Option ID = 1440]

61 el @

A g & 3eufca HERd & SIE 2Teg 2H §39d U

B. &SR SEIEH AT & Tafcine 3 Hiar sigr v
C. STV SR & Soel &1 WISt 31 Fidr Sier ¥
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(4)  AdQDSEAI

[Question ID = 361][Question Description = Q61_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]
3. 3 [Option ID = 1443]
4. 4 [Option ID = 1444]
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D. sl o 5 3 &1 Heholed U
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(2) BdDdRdAl
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(4) BaCamal

[Question ID = 362][Question Description = Q62_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
4. 4 [Option ID = 1448]
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1. Bd C 3l A
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[Question ID = 363][Question Description = Q63_33_Dogri_SHAAN_20NOV_Shift1_S1]

1. 1 [Option ID = 1449]

2. 2 [Option ID = 1450]

3. 3 [Option ID = 1451]

4. 4 [Option ID = 1452]
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[Question ID = 364][Question Description = Q64_33_Dogri_SHAAN_20NOV_Shift1_S1]
1 [Option ID = 1453]
2 [Option ID = 1454]
3 [Option ID = 1455]
4 [Option ID = 1456]
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[Question ID = 365][Question Description = Q65_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]



3. 3 [Option ID = 1459]
4. 4 [Option ID = 1460]
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B. ereldr IL  9d-9cad &9aH
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[Question ID = 366][Question Description = Q66_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1461]
2. 2 [Option ID = 1462]
3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]

87) e <idr =1 R Tt et ar g widh = e ol i et 05 vomer v
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(4) A-ILB-II.C-IIT, D-IV
[Question ID = 367][Question Description = Q67_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]

3. 3 [Option ID = 1467]
4. 4 [Option ID = 1468]
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[Question ID = 368][Question Description = Q68_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1469]
2. 2 [Option ID = 1470]

3. 3 [Option ID = 1471]
4. 4 [Option ID = 1472]

69)
el =T = e ferdl fafed a1 g8 =idy = e fdi ufafdest st T8 flomer &

Erag| =Zer 11
A RIS I dgaur
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[Question ID = 369][Question Description = Q69_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1473]
2. 2 [Option ID = 1474]
3. 3 [Option ID = 1475]
4. 4 [Option ID = 1476]

70 e o o o wiARed a7 gf S o Rl o AR et € et -
e I =er 11
A U I &
B, st I e
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[Question ID = 370][Question Description = Q70_33_Dogri_SHAAN_20NOV_Shift1_S1]

1. 1 [Option ID = 1477]
2. 2 [Option ID = 1478]



3. 3 [Option ID = 1479]
4. 4 [Option ID = 1480]
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[Question ID = 371][Question Description = Q71_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]
3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]
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er 1 =dr 11
A o et L &
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[Question ID = 372][Question Description = Q72_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1485]
2. 2 [Option ID = 1486]
3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]
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(1) A-ITB-TIML.C-1I. D-IV
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[Question ID = 373][Question Description = Q73_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]

3. 3 [Option ID = 1491]
4. 4 [Option ID = 1492]
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[Question ID = 374][Question Description = Q74_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1493]
2. 2 [Option ID = 1494]
3. 3 [Option ID = 1495]
4. 4 [Option ID = 1496]
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[Question ID = 375][Question Description = Q75_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]
3. 3 [Option ID = 1499]
4. 4 [Option ID = 1500]
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[Question ID = 376][Question Description = Q76_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1501]
2. 2 [Option ID = 1502]
3. 3 [Option ID = 1503]
4. 4 [Option ID = 1504]
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[Question ID = 377][Question Description = Q77_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]
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[Question ID = 378][Question Description = Q78_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1509]
2. 2 [Option ID = 1510]
3. 3 [Option ID = 1511]
4. 4 [Option ID = 1512]
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[Question ID = 379][Question Description = Q79_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1513]
2. 2 [Option ID = 1514]

3. 3 [Option ID = 1515]
4. 4 [Option ID = 1516]
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[Question ID = 380][Question Description = Q80_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4. 4 [Option ID = 1520]

81) Shah. nfery, TreroT 3 e e T & 56 B & T S8 T & RO & B e e
faereq 3t gt :



A wadw

B. Arci]

C. ¢ e s

D I ST STl ST

$E I TS FH el [dahed o 4

(1) ABDC

(2) DABC

(3) B.C.AD

(4) C.ADB
[Question ID = 381][Question Description = Q81_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1521]
2. 2 [Option ID = 1522]

3. 3 [Option ID = 1523]
4. 4 [Option ID = 1524]
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[Question ID = 382][Question Description = Q82_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]

3. 3 [Option ID = 1527]
4. 4 [Option ID = 1528]
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(3) D BAC
4) B.C.AD

[Question ID = 383][Question Description = Q83_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1529]
2. 2 [Option ID = 1530]
3. 3 [Option ID = 1531]
4. 4 [Option ID = 1532]
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[Question ID = 384][Question Description = Q84_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1533]
2. 2 [Option ID = 1534]

3. 3 [Option ID = 1535]
4. 4 [Option ID = 1536]
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[Question ID = 385][Question Description = Q85_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1537]
2. 2 [Option ID = 1538]
3. 3 [Option ID = 1539]
4. 4 [Option ID = 1540]
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[Question ID = 386][Question Description = Q86_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1541]
2. 2 [Option ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]
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[Question ID = 387][Question Description = Q87_33_Dogri_SHAAN_20NOV_Shift1_S1]

AW N =

88)

1 [Option ID = 1545]
2 [Option ID = 1546]
3 [Option ID = 1547]
4 [Option ID = 1548]
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[Question ID = 388][Question Description = Q88_33_Dogri_SHAAN_20NOV_Shift1_S1]
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3 [Option ID = 1551]
4 [Option ID = 1552]

to oI Fue RBcd A1 A | 5% (A) 399 AT Fe=riTena ae o g31 (R) It anfat T

AT A FooR Ifeiehaarel 3 3 fehdrare & #e 4d - fade | ok @i i A AW
et 31 3 T RIRTST o oIS HRGT|

SR :  Sool IfASdrdlE & Ad R fa=Re o g

¢ 91 TS SAdId 3gel fdehed 3l goil:

1) AJIRENEFATTA, R e HROTY
2) AJRINEFTIA, R TS HRUTAS
(3) AJFHETT Raeaw

4) AIITIREFT

[Question ID = 389][Question Description = Q89_33_Dogri_SHAAN_20NOV_Shift1_S1]

A W N -

90)

1 [Option ID = 1553]
2 [Option ID = 1554]
3 [Option ID = 1555]
4 [Option ID = 1556]

o ol i Teed A8 o 1 5 (A) 39 Alfet Tele=riTeHe el o gHT (R) {stet Arfed sy U

FAA - WIiocd Addl &1 Fdicd aial U1 Wiecd 3 Saar d9R 91 fofeadl o1 &1 Bl U,
mﬂa@ma qH AT

UAAR @ fed TG Shewt STetcl &l dtfiéeh. AsTRieh, Hghice aRT dorE-ded Tt 07
faer hrar SIS HehaT T

S8 AT TS Fa e fadhed 3t g4

(1) AT RENEFATTA, R STRSFROTY
2) AJYRIVEFATA, R TREFROTAS T
(3) Ad&Hvd RIed T

4) ATIUTIREIFT

[Question ID = 390][Question Description = Q90_33_Dogri_SHAAN_20NOV_Shift1_S1]

A wN =

1 [Option ID = 1557]
2 [Option ID = 1558]
3 [Option ID = 1559]
4 [Option ID = 1560]

Topic:- 33DOGRI_C

1)

To faed § Yt ot afedt 39 g e & ganel & w3E wae e Rwew At g

ot ol aTel, =amet S s & e o WIS Webal 3Meel 3l ST W Silel e sAleeh I feehs-Ale

3T SIS Hehel U afaehs-alesh a@aﬁaﬁﬂé@nﬁfa’rgadﬁuluﬂ a1 AdieT A% T Ug 56
Foraer ar-gash & @ 3 G o adeT ¥ seget 1017 7 w7 wifea & deeh e



HeAlel 1 AlepT 3T o AT I dis & deeh Wel & thell oidm 31|

TReaTedllet = s -Allch Al AT U feads & Aidh Fael & (3NTTel & SR §I51 UE UE37Td FeT
o eIl

STIR T afFhS <leeh &1 AN Tel 1979 =1 Toed UG geat & s & Holtiey g1s. SIws! HoTae of
Il | UF; aferehs-aleeh HGNI-START el =1, eiaR 7ol Aldhe & UTdh = W31 37|

SIINT TTerhs-aiTeeh af 18T 7 391ed 1986 3ff gram W—ﬁ?ﬂﬁﬂﬁﬂﬁsé‘ﬁﬂﬁ%ﬂ?@ﬁ%—
e Wl Wﬁ?@mﬁ%&rmmﬁﬁﬁ-ﬁ&@m-mﬁ@#@m frer J9=

maa@am:

s Aleh e | Gl

(1)
(3)

TFLAIGHT & T (2) THTSIAIG ol %R
HE=IdTe, o 9rEr (4) TSAAAIC G THRT

[Question ID = 402][Question Description = Q96_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1605]
2. 2 [Option ID = 1606]
3. 3 [Option ID = 1607]
4. 4 [Option ID = 1608]

D o e & e o e s e e & el & i v st e ot
T 1 IS A S TS &1 FF T TENS el 3iTecel 2T ST WE Sle TRl AlCeh 1 ahs-olles
mmaémtlgm-magamﬁmm@m#ra AdrST 735 V| TR 5%
aehre Sl & w3 fERRT & Adier v srdar 1917 9 & wiled &1 deel aveie
AATeT &1 Al 3T ar AT SR & 7s &7 dAeah Weel &l thaall ofdr 13|
feraTedllet = aahs-lleeh &l AL gU faeads & At @amer & (30)@Tel & ERI g5 TR UE37Td F5T
o eIt
STIR I faehs-eliceh &1 AN el 1979 =1 faea wilig geal & sY & Heliiey gls. SIas! HoTae of
Il | U aferhs-alee HGNI-START el =0, AT 7ol Aldhe & GTeh = W31 37|
1Y Sfaehs-Fllee &1 W T 3T 1986 71 GI3MT| STOR-H of @IS Aferm a7ls & I = Ty & farans-
m@”ﬁ:iﬂﬁ%ﬂﬁ%@tmﬁﬁwrmmﬁﬁﬁ-ﬁ&ﬂm-mﬁ@ﬁm[ﬁam
SCTIT o T3 o i

THEE SIS Fehs-Aled & ddd b

(1) Q3 A (2) FHews

(3) AT (4) SiferareT ga

[Question ID = 403][Question Description = Q97_33_Dogri_SHAAN_20NOV_Shift1_S1]

A W N -

1 [Option ID = 1609]
2 [Option ID = 1610]
3 [Option ID = 1611]
4 [Option ID = 1612]



3)

Tw e & Uy ot ot 3w ¥ e & ganel & v wrae ange Rraew aft gan:

T 1 TS e S 5 &1 FF F @EIS el 3iTeel AT SIl W Silel 3TES AlCe Nl sl

T S5 Hehal ¥| Adhs-dAled ol He Ve i dearel s §w|rﬁ=.uui‘t a1 AdieT 7% T TR S&
TErIET AE-HAST &1 W o AR & ade v sEger 1917 o s e & deeh s
HeAlel 1 AlepT 3T o AT I dis & deeh Wel & thell oidm 31|

TReaTedllet = s -Allch Al AT U feads & Aidh Fael & (3NTTel & SR §I51 UE UE37Td FeT
o eIl

STIR T afFhS <leeh &1 AN Tel 1979 =1 Toed UG geat & s & Holtiey g1s. SIws! HoTae of
Il | UF; aferehs-aleeh HGNI-START el =1, eiaR 7ol Aldhe & UTdh = W31 37|

1T SJaehs-llee &f W T e 1986 71 GY3MT| STOR-H of IS Ao a7ls & I = Ty & ofaahs-
e Wl Wﬁ?@s&mﬁﬁ;&rmﬁw—ﬁ&@ﬁamﬁ@ﬁ@m frer J9=

maa@ﬁm;

Tered witig Beal & ST 2 hol®d Wl HTgell S39R &1 Ugell afdehs-alce 61:

(1)
(3)

ST GRIFA (2)  THTSel

Hehed (4) HelolH I

[Question ID = 404][Question Description = Q98_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1613]
2. 2 [Option ID = 1614]
3. 3 [Option ID = 1615]
4. 4 [Option ID = 1616]

4)

v e & Ay ot ot 3w ¥ e & ganel & wgd wrare amge ey At gan:

Rt i Tl Y ST RIS A AT T WS e TR 3 i O ST e e 9 e AT
S S TheT V| FEwS-AICH o1 He Ve I A S gotaarsh a1 sk 4% ¥ vE 5
THIET W-HAST & "W o AR o Ader ¥ seqew 1917 3 w5 wifed & deeh e
HeAT 2 Al 31T a1 THeE G =11= &7 e @aet &7 el ofdr a3

TGralRecilel o aferehs-aleeh &1 AFITA gV favady & #Hld Farmer & (3)a0el & GRIA §I51 TR AL 35T

o FIr

S3IR A jdehs-llce &1 YA el 1979 = faea wilia geal & ¥ & Holdey §1s. Siws! Hoiden of

Il | U eferhs-alee HNI-STHT el . AT aller Hidhe & Uidh o W3 3|

SIaNT sfeehs-alleeh &1 W T 39T 1986 1T GI3T| SIaR-H of &l Hferm afls & 3 = fohg & feens-
AcF el Wﬁ?@mﬁﬁwrmmﬁﬁﬁ-mﬁ#@m-mﬁ@#mr orer #ae

mawsxm:

STl & Ueel &'F oJaehs e § ofl= 6

(1)

'FHl IR F "HIAT 1T 906l (2) 'HARE" o 75 9 41T



{3)

oG O gEr e A (4 TG Er Fedr o Adaar

[Question ID = 405][Question Description = Q99_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1617]
2. 2 [Option ID = 1618]
3. 3 [Option ID = 1619]
4. 4 [Option ID = 1620]

5)

Te faea § Yy ot afed 392 ¢ e & ganmer & w3E e g Fwew Al g

ot ol aTel, et ST s &) el o WIS Hebal 3Teel 3T ST W Sl HTES Alceh 31T ddhs-Alcd

3T A5 Hehel ¥| Haehs-aled al He Vg I dwarel S Ewlrﬁuuui‘t a1 FAdieT @5 ¥ TR 5
FeRreT TrE-TAS & W o faERuRT g Ao ¥ segeR 1917 9 w9 @ifed & dwell sRweie
HeATeT 21 AT 3T ar THEET S =7= &7 s Weel &7 tharalT ofar ar3|

TeaIealel o afahs-Aleh &1 YE3TA U [99adg & Al T91 & (T & SN 5151 TR ST 35T
EESR

SR I s A 41 AN Tel 1979 7 Taed uRig geet & Y & Horeted p1s. Siast 3eiaan of

I | UF; oTerhs-ATeedh HGNT-START el . AT 7l Aldhe & UTeh o W31 37|

SITRT sahs-aiTeeh of T 7 39ed 1086 3t gram| ?W-mﬁmﬂﬁmais < I = T3 ar s
AeE Wl Wﬁ?@tsﬂmﬁﬁarmﬁw—m@ﬁﬁmﬁ@ﬁ%[ Srer #ue1

ST ¥ TG o e

mawmmmw.mam =

(1)

(3)

"HETSTH T o '37arsT (2) '@’&-@%?E‘f?m
Ted o T (4)  FEES A Gl A F TG

[Question ID = 406][Question Description = Q100_33_Dogri_SHAAN_20NOV_Shift1_S1]
1. 1 [Option ID = 1621]
2. 2 [Option ID = 1622]
3. 3 [Option ID = 1623]
4. 4 [Option ID = 1624]

Topic:- 33DOGRI_B

1)

e faea § Set 9 ot 3w g s & g & v orae age fawe At gAY

sqrem o Taerer 379y &Y AT I e ST 96 el oA T Si1SeT &1 TIURT Ja7 Wit =Ieldl H1Em
FIET U] T A G g FeecaddoT SHIS §IG o Tl & AGANT oot IS o UG e 7ol UG Feet
T @ 319 3 WeIE I TR U Hehal Ul UoTT X Areell § §iG o | 3UHEL. FEAE J 9|
ST e & YR T S5 o of UG & HA Y Fhow! AT WY I WIE & o T A HYea,
FTSTERT. 3AEET ST 9T6d, T IUTI AT & o | A9 3ff Aeavcay & 3Ee 7 o UE g o 3¢
TeTead ¥ & AFIC I A oeg & 1 A T F Sermel S o1 A dane. e e
TR orel | o o oS HEE F O $ET WART I Aeg S I & WRT 7 glar ¥l Bl
@rF, HRIT ST oreg RE & SEAAT theel del & AITE Tl WA HTeel Ted T of §d T Ues,
ST 9 Feet 3t SIS | A Al o ST 7 45 i)

"Gelldl 2leg; G Tehell o Fdrd U

(1)

"ol 3T (2) 'O AeTEET



(3 o 3uEd (4) '3T@T 9T

[Question ID = 397][Question Description = Q92_33_Dogri_SHAAN_20NOV_Shift1_S1_N]
1. 1 [Option ID = 1585]
2. 2 [Option ID = 1586]
3. 3 [Option ID = 1587]
4. 4 [Option ID = 1588]

Y o e & gt ot o 3 s P 4 o R v o e
srrem = faeter aref &y aifdieaiaa aned 9 A7 9¢ @heet W At Sisa &1 9ur a5t W "eidr Hian
FIET U] T A G g FeecaddoT SHIS §IG o Tl & AGANT oot IS o UG e 7ol UG Feet
Taed @ 31 3ff e o TRT ST Adar U1 Wedd A diedll & 6iG of | ST, HEAEdT of TR
ST e & YR T S5 o of UG & HA Y Fhow! AT WY I WIE & o T A HYea,
FTSTERT. 3AEET ST 9T6d, T IUTI AT & o | A9 3ff Aeavcay & 3Ee 7 o UE g o 3¢
TeTead ¥ & AFIC I A oeg & 1 A T F Sermel S o1 A dane. e e
TR orel | o o oS HEE F O $ET WART I Aeg S I & WRT 7 glar ¥l Bl
@rF, HRIT ST oreg RE & SEAAT theel del & AITE Tl WA HTeel Ted T of §d T Ues,
ST 9 Feet 3t SIS | A Al o ST 7 45 i)

¢ 9L- Yodd & AN dhee! del T 9Teg,
1y Wra (2) et
3 @& (4) UsEEr

[Question ID = 398][Question Description = Q93_33_Dogri_SHAAN_20NOV_Shift1_S1_N]
1. 1 [Option ID = 1589]
2. 2 [Option ID = 1590]
3. 3 [Option ID = 1591]
4. 4 [Option ID = 1592]

D o o &t o o s e Pt 4 ol 2w e ameet R aft
stem = Taerer aret & srffcaiaa e s ST US Tt Uogd AT Siser & IO F57 W Terdl AT
FLEN V| & A YT HIE Fpeadqol SHS g A 1S AeAT dhoot 1S off UG I HeT 9g Foot
TWRaed @ HY A were J Tave Fi d6er U1 W ¥ Aredll & pig | 3UHAT. HegEaT o U]
ITH A & YET 3¢ 7 o UG & FA Y Feed AU @ I’ WIE FG A AT A
ST, WS TIRT e, T IUGI aXalv & | FEIE i Feavcad ff 31@e A J U 90 o 39
Ueterd €9 & AAIC I A e & 372 I Gl o Ferenelt St o1 foran add. feer-a-ide
TN e 7| IR off U o e 7 O SET ST FpEn e o o & W+ giar ¥ e,
@TF, FIETET TR oreg WAl & STIATT Foed Fo7 & | UE =T TaEeT 3Tael Aol T o T Toa T e
ST UE et 3 SIS 7| FeAaw i I wer 7 1S i)

HIE-SHTE 2Meg & THAT o Ygehd gIe ar ¥

(1) 'S¥€F WEd (2) O 39

3) T A=A (4) AmE o

[Question ID = 399][Question Description = Q94_33_Dogri_SHAAN_20NOV_Shift1_S1_N]
1. 1 [Option ID = 1593]
2. 2 [Option ID = 1594]
3. 3 [Option ID = 1595]
4. 4 [Option ID = 1596]

4 e faea § Set 9 ot 3w g s & g & v orae age fawe At gAY
ayrerr = fagrer a1eY &) arficaieaT 3ed et AT 9E oot W AT Sise &7 TUAT JoT Wikl =eldy 3ar
HLET U 27 I UHT HIE F5cdduol S&E Bie o for e S8dET ged fls & U€ 3197 Hel U8 Fool




TRaET @ 39 9ff were O T9eE @l Ahel U Wehd ¥ T@eell & Bic of | SUHIT. HEIEIT o 9|
UG A & YET 3¢ A o UG & FA Y Feet AT @ 7 WIe wG A oran agean.
FASTaT. AEET FIRT ¥es, T 3UEI aXalv & A1 FEIE i Aeavcay € 31EE A J U 90 o 390
Ustberd ¥ & AAC A A oeg & 372 A G F Ferenel et o foran add. et e
TIRT ered | SR A W @ @S 7 T FaT ST FRT Aeg S 41 & WRT + glar ¥ hed.
WTF, FRTAHT TR 2feg WA & STIAT Foed Je7 & 1 TE =T TaET ITeel e T o T T4 e
ST U& e 3 SIS 7| FeAoR dlRT oX wer 7 5% 3

‘3=Tafer ofeg & T
(1) 398 AT Feot §lS T T (2) HEIHIN & WA ool BIS AT T
(3) T o I & AT ot §15 G T (4) T T I & T et G STV

[Question ID = 400][Question Description = Q95_33_Dogri_SHAAN_20NOV_Shift1_S1_N]
1. 1 [Option ID = 1597]
2. 2 [Option ID = 1598]
3. 3 [Option ID = 1599]
4. 4 [Option ID = 1600]

) mew foe  deyah ofd w g P 2 ol 2 W e st e it g
srrem = faeter aref &y aifdieaiaa aned 9 A7 9¢ @heet W At Sisa &1 9ur a5t W "eidr Hian
FIET U] T A G g FeecaddoT SHIS §IG o Tl & AGANT oot IS o UG e 7ol UG Feet
Taed @ 31 3ff e o TRT ST Adar U1 Wedd A diedll & 6iG of | ST, HEAEdT of TR
ST e & YR T S5 o of UG & HA Y Fhow! AT WY I WIE & o T A HYea,
FTSTERT. 3AEET ST 9T6d, T IUTI AT & o | A9 3ff Aeavcay & 3Ee 7 o UE g o 3¢
TeTead ¥ & AFIC I A oeg & 1 A T F Sermel S o1 A dane. e e
TR orel | o o oS HEE F O $ET WART I Aeg S I & WRT 7 glar ¥l Bl
@rF, HRIT ST oreg RE & SEAAT theel del & AITE Tl WA HTeel Ted T of §d T Ues,
ST 9 Feet 3t SIS | A Al o ST 7 45 i)

SE I 3T & T 3MTgen 2eg U

(1) dad (2) FHls
3) IGIEEG] (4) ShEasEr

[Question ID = 401][Question Description = Q91_33_Dogri_SHAAN_20NOV_Shift1_S1_N]
1. 1 [Option ID = 1601]
2. 2 [Option ID = 1602]
3. 3 [Option ID = 1603]
4. 4 [Option ID = 1604]

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Worlkforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrbution M:F)
Service (SE) 15% 32
Sales (8A) 12% a::3
Construction and Maintenance (M) 9% 5:4




rrolessional (Fhv) 1570 o
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% 3:5

FefetE A W fa=m fifse f5em o 57 50 99 3 T = T g § e % w5 e
(%) Taemor qun gea-ufEen HEee 9 g T 2| '@ & % Fel wEed 6 ae 80 @ 2
AT | T30 70 AR % S9N T U9 F 39 A0

e (%) foeor | ger-aften sqma ( 709 )

Tar (g ) 15% 3:2
ey (ug ) 12% 5:3
fmior 3R srEEm (i ue) 9% 5:4
mHTEE (i #w) 18% 57
e (T ) 21% 3:4
JearEA @ it (fF #) 19% 518
¥ (=7 7) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

oot & = e 059 FEse 6t ofted @e g4 27 (Z9Eed & 2 T 9)

(1) 6.39 @i g (2) 4.69 9@

(3) 5.96 @i g (4) 7.48 @™

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

A W N -

2) (Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 32
Sales (SA) 12% Bz
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% *h

FefetE aifer W fa=m fifse e o 57 50 99 % 7w = 5 & § 9ne 5 e w5 e
(%) Taamor qun gea-ufee HEee g g T 2| '@l & % Fe HEed 6 ged 80 @ 2
ATeTeT § T2 U SATRS] % YW T YTT F 397 A




TR = qRF F1 FEEA
ufera (%) foeor | geg-nfzen squ@ ( §: 9 )
Fa (TE 3) 15% i
Ty (ug ) 12% 5:3
fomton it sam (< o) 9% 5:4
TigFe (i #w) 18% 517
TaYT (T T) 21% 3:4
Seareq A ufEE (4 19% 5:3
W= (=7 7) 6% 3:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?
(1) 330% (2) 318%
(3) 320% (4) 80%

Wg GﬁT Eifee s F'EITI 1T f¢,|J4q HT}:w r-1».|-Tslcv1 Eql el HET =t uH ?ﬂ fl mmr{d i) uhl-ir'sacﬂ T HEr &

e wfaea 27

(1) 330% (2)y 318%

(3) 320% (4 80%
[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8029]

. 2 [Option ID = 8030]

1
2

3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (S8A) 12% B 3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5 G
Others (OT) 6% 3D

frafafes aifes = fa=m fifse 5o o 57 5o ad | om = fafim & & e & s =1 afam
(%) faamor 7 Tu-afzan FEEe sETE 9 T 2| ol e % T wEEe i g 80 @ P
FifeAaT § 23U 0 aT7s] F oUW W UvT % 39 altan)

WA % FEEE F1 EFan G

ufera (%) foeor | geg-nfzen squ@ ( §: 9 )

Fa (TE 3) 15% 323
Ty (ug ) 12% 5:3
5:4

frmfor o srEem (o) 9%

R e e R R - e Pl =T V4




APPSITICT LM L) AR L
TeE (TH T) 21% 3:4
IeareA 3 ufEE (d &) 19% 538
a7 (=1 ) 6% 316

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH U AR TR U & H FERd 999 wEea F Fe @ 0 A @9 7 HeE Hreed f G G w5 e

(1) 82% (2) 87%
(3) 839% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1 [Option ID = 8033]
2 [Option ID = 8034]
3 [Option ID = 8035]
4 [Option ID = 8036]

A wWwN =

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 32
Sales (SA) 12% Bz
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% 3:5

FefetE aifer W fa=m fifse e o 57 50 99 % 7w = 5 & § 9ne 5 e w5 e
(%) faam a1 gEe-AfEen FEEe wATE ZmE T 2| @ & % Fe wEed F e 80 o 2l
ATeTeT § T2 U SATRS] % YW T YTT F 397 A

wferora (%) fereeor | gen-ufeen wgE (709 )
Fa (ug ) 15% 3:2
Teg (TE ) 12% 5:3
fmtor =i sEm (o) 9% 5:4
mHere (i 3m) 18% 5:7
HeET (U ) 21% 3:4
JearEA ¥ i (fF #) 19% 518
¥ (=7 7) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce



in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

UH U AN UH U A § HEit Afeen ®rEed $ $e g A 6 A & o weg afgen sEee S ge w6

(1) 5.1« (2) 7.5 @

(3) 579w (4) 1329

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1 [Option ID = 8037]
2 [Option ID = 8038]
3 [Option ID = 8039]
4 [Option ID = 8040]

A W N -

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% bh:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% Hg
Others (OT) 6% *h

ffafes aife= = fa=m $ifse f5om o 57 5o =d | om = fafim &t & e & s =1 afam
(%) fagmr w1 u-afzen wEew s o T 2| @t e % e wEew A wem 80 @ g
ATfeAeT § 2 U SATS] % YW W OUvT % 391 alAu)

A % FEE H1 SFan G

wfderd (%) T | gee-wiwen ogeE (39 )
a1 (TF ) 15% 312
ey (ug ) 12% 5:3
fomto it srgeam (d ) 9% 5:4
THeFe (i W) 18% 5:7
TaYT (T T) 21% 3:4
Ieareq A ufae (4 19% 5:3
a1 (= &) 6% 3:b

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 :39 (2)16: 37

(3)16 : 35 (4) 16 : 39

ot vy &7 § =EeE giEen FHEwe F g o f 9w v o 7 A § we g wEas F 5 G w5

ST = 7

(1) 17:39 (2) 16:37



(3) 16: 35 4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AT % R w E g R AR SR gE o 9T AR 360 aEean Tede WA 27
(1) = =T (2) FFE =T
(3) wHE (4) wEET fTEm =

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1
[Option ID = 8045]
2. 2
[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

Frafafas T gfafe e guae f 9=t @ e w9 gedi fafim wat & meam 9 =

T B | 3 g S SHaEr S Ht Eart £ 39 O SIS O GHa SEEn S % A Tl 8 7

(&) me-gwAr (Fe)
(B) fEEm
(Cy  Tamam & aferfs

(D) HEIE]

(E)  A5rFar

e fau o faedt § & T I w1 =E i

(1) (&) = (®B)
(2)  (B) 3R (C)
(3) (D) = (E)
(4)  (B) =R (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]



1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (l) Using Swayam and Moocs

(B) Open and distance learning method (Il) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(D, (B)-(I1), (C)-(IN), (D)-(IV)

(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)

(3) (A)-(IV), (B)-(1I1), (C)-(I1), (D)-(1)

(4) (A)-(I), (B)-(), (C)-(1V), (D)-(1lN)

THt-1 % Ty gA-I1 1 foers ifse) g1 8 3= wrform seonan | foam i fafaa & o2 2, st gt
114 wfermy fafagt 6 oamaEefiear agM F1 aw-i o 718 3

T I T 11

Taregor =t Tafemn TSI S i T
(A) HHA-HEH i SRR G (I)  ¥599 3 q58 F1 7=
(B) T it gt wifemm fafy (IT)  wAfosiaa ATEeea® do
(C) Faragr i dofeeer fafy (III) =Tsgew HTEIeRF A=t
(D) foregmn =i sATemes fafa (IV) ufe=m =+ wa-w fomers o

= fou o faseqi # @ | =T w1 wE A

1) (A)-@. (B)-AI), (C)-(III), (D)-IV)
@) (A)-IID. B)-AV). (C)-I). (D)-II)
(3)  (A)-AV). B)-(IID). (C)-AD. D)-I)
4)  (A)-ID, B)-). (C)-(IV), (D)-(I1I)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

e (D) IueIied AN FTHARAT W S WA % FH S Ieh A9l 1 S EE



ATF FH % e AR T e 2

F97 (I1) : FEgiE =afthes wiE 3t v safwaes wiem gienfaa # fafte sEEr g g =
BT 3 o TATEA H AN R 9 2

IWF FYA T A |, 49 50 0 e § ° gee 39 I R =5 S

(1) =99 (D) *1 JI) 31 =8 2
(2) = (D) 31 (1) 21 7o 2
(8)  =uA (I) Wet 2, =it %o (1) T 2|

(4) A (1) 7o 2, SAfET w99 (10 T8 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true
9 21 ®y fau o 2w wfymeE (Assertion A) % w9 H fefigd # 4t L 3u F (Reason R)
= ETH :

T (A) e & smgfF s o2 @ & et geEa Tl =1 A wEEe i gt
F1 TEAH 99H &

F0 (R) forelt el foverr wmmEn oonelt = st wfdEafoEt 4 gar % Wy w@geE e A
S

I U F AT |, A= B T e | ® wE 39 =999 i

(1)  (A) &1 (R) AT 79 3 311 (R). (A) Fi =& =mer 2

(2)  (A) T (R) IA & &, G (R). (A) 1 T8 = 796 2
(3)  (A) == 2, AFT (R) 707 2

(4)  (A) 37 2, dfFF (R) 7 2

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

Tor| TR % T | wiaEEi Ui = reEEd e e 2 v

(1)  Fdta =g (2) tfaefas @y
(3)  =AEETH® WY (4) TEFTeEE Y

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]



3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

e e ekt wforta o0 At sifegfe 71 smfe % w9 A 2, A A et 3 @ f e
I TIE HUFR 27
(&) TemmomeE fafy

(B)  vEITIeR= i

(C) =R &
(D) e &l

(E) =g fag

= fau T fakeai | @ wE Sw W = A

(1)  (A) 271 (B)
2 (B #HR(C)
(3)  (C) ¥ (D)
4 (D) &R (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)

(2) (A)-(D, (B)-(I1), (C)-(In), (D)-(IV)

(3) (A)-(I), (B)-(ln), (C)-(1), (D)-(IV)

(4) (A)-(1n), (B)-(h), (C)-(1), (D)-(1V)

-1 % =19 g -1 1 fiem Fifoe) g1 8 w9 & =20 920 2, 5906 got-11 1 5 g 75 a4+

Eisl TAT-11

7t F = e 3 AT T
(A) mq—,ﬂﬁm (I)  HThS] = WU 31T arhiE BEsGIE TR
(B) ftwega fmio (I1) T FevR U2 H FHEA B
(C)  wiferra= wiwan 1 =47 (II) == % &= § g A I3

4 - o A 5 iy %
TR e AR e 5 W, TN, TN, i T » U . PP i SUEN



LE T ] e el e b e LT S A R A B L Y P LA L A i B R e Y B L )]

e 5w o fakedt | | wéi 3 W wme Hifw

1) (A)-ID). B)-IV). (C)-(ID). (D)-(I)
2 (A)-D. (B)-AI). (C)-(ID). (D)-IV)
(3) (A)-(II), (B)-(IIT), (C)-(T). (D)-(IV)
@ (A-D. B)-@. (©)-aD). (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (1) is false but Statement (ll) is true

et 31 e far e #

FoT (D) UF TU-TEE A Wg-TT °§ oG o @SR % woEd A% Sie % st wie oqr T8
Fu (I0) : o1 wedl Hamhar AR s ST w9 e * e a2

TR U AT |, H= R T e § W wE 39 R 99 S

(1) =y (I) =i (1) 241 | 21
(2) = (1) A (I0) ST F7Eed B
(3) = () &eA 2, A FeA (1) w9 2|

(4) =9 (I) 98 7, witFa A (1D 7 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 31 wue 2w U § ;v wigEUs (Assertion A) % ®9 H fofiEa &A@ ZE 35+ F00 (Reason R)
+E]YH

A=Y (A) ferelt =i gfrewr (Ha) = Feeseofie afimesn (Ho) =t gemEar o qhiam fran s

-



= 'T_'[al

F (R) : it afeweraT (Hy) 51 admta #i sifiofe @i w0 3 53 51 51 w0 2|
TUE YA & A °, = 2 e famen § 8 wey ugs I 6 99 i

1) (A) I R) IA HE 7 G (R). (A) F T ==

(@) (A) AR R) IA FE 7, = (R). (A) F HE == T G
(3) (A = 2, @i (R) g A9 2

4) (A wE E R, = (R) TR

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

A TH TiTe Tk a1 U9 TE femw eatatae ® 9 e ot o e e e
(1) 30 FaE (2) 307
(3) 15 S (4) 15 Ta71

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

ferer ErETwE 1 udE-Ta=s (S0T) "Let truth prevail" B 7

(1) fz=zmmm (2) TTEEH HATE SrEAT
(3 f&fem (4) Tfeg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

I 21 F99 f2r U # ;. vw fiwYA (Assertion A) % %9 | fafigd & @ =Ll 3% F00 (Reason R)
FETH -

ARG (A) Al TERY (FTsFRe) S Afas Fatws 3 H0E war #, Teg 98 gifsa
#t 7% ¥ TEE UNE 92 T/ 2

#10 (R) : SeiE JET (FisHe) Hifsd W dswi B F SR w= 2
UL YT * S °, {9 20 e fameul § 8 mey 3ugw I w9 i

(1) (A) =7 (R) 3 581 2 =1 (R). (A) F 78 =30 2|



(2) (A 3 (R) 2F T 2, ST (R). (A) # w21 ==mE 49 2|
(3) (A =H B, A (R) @& A3 B
4) (A wE R 7, = (R) TR R

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

TEER % I &9 g IMEFT U AEhies F THR | UH S O F gl aed 597

(A)  wErE Tagm At i sma ) mE e F e

(B) 3= w19 S=iga] SierE & W9 e 24 & e
(C)  a7efER ) o aoneE #1 T "eE 6 e

(D) =& gRon =9 = fae fF ditsm 1 aeae wame witw w

e 2w o fased @ | wEE UG I 0 99 i

(1) =& (A) ¥ (B)
(2)  Fad (B) S (C)
(3) === (C) 3 (D)
(4)  =Fae (A) FH (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

H= &t 2 gt 9 9w i aeiameE st w e fif)

&) =



(E) = =1 9 541

Hre fou 7w fasheqt @ § @E 3T 0 =g i

(1) == (A), (B) 31 (C)
(2)  aa (B). (C) =1 (D)
(3) = (C), (D) 3R (E)
(4)  F=E (A), (C) ¥R (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

T T % S0 U UHEE AT AT o U9H 3 HEA1 § 4000 F0H, 36 AU 4 HEA H 4500 T
#n w5 WEA #5000 wH 47| 7 W A9 % SN FA w=d 5000 ¥ A 41 39 qEw # oo
arfar w1 et e

(1) 3000/- =% (@) 4000/ ¥

(3)  5000/- =/ (4) 6000/- =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 T 90 = wim = TH WHTTE HEAA] T A6 g0 -

1 765 (2) 98.25
(3)  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% =EE 33 W 39 sH W 11 w39 F G qe9 F e A Wt Fal @) Giowa JF @

1) 25% @) 50%



(o)  U% (4) ol%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3)5% (4)7.2%

72 feft 72g 1 =7Ta gog =E fawa geg = 95% ® °t =y i afdwEar = et

(1) 4.26% (2) 5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

otz =15 =afs fawet aeg +1 26% ufewa 6 w17 @ 38 1200/ - #99 & s=a1 2 A1 30% = @9 F9H &

feru 30 3@ =g =i e Sima o s=ET =fET e

(1)  1600/- =7 (2) 2000/- ¥
(3)  2080/- =w (4) 1560/- =%

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

T GRAE A A w5 Aetanad § ® HwE-A W e 95 6 R {9 e % e gaeal
ST 27

(1) (2) HAgAE
(3)  FumH (4) TSRS

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

c i 5 S = :
T ST O T OT O o T O =T =T Oet oo o = 7




(A)  Toamwd g @ seEw it wmEan T = we (30
(B) WO = w9 (74)

(C)  sAfqumon =i fagdt % =v 9 gfe (Femm)

(D)  =ATHYRON 1 FYF (Vo)

(E)  Tfea faw =1 =2 2 (32mem)

Hr=1 f3u 7w fasedl § ® @ 39 W =g HIA

(1) (D). (E). (A). (C). (B)

(2) (D), (C). (B). (A), (E)

(3) (D), (B). (E). (A). (C)

(4) (D), (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?
(A) Nayava
(B) Vaiéesikas
() Buddhists
(D) Mimamss
(E) Carvaka/Lokavata
Choose the correct answer from the options given below :
(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only
T WRAE ZEA9TE i FF-T1 TOEE W53 TH S SEEE % A JEa 2 7
(A) =
(B) =i+
€ g
(D)

(E) =t/

Hr= f3u o faedi © O wE 39w =Ee S

(1)  =ae (B) #1 (C)



(2)  =aw (B). (C) 3T (E)
(3)  Faa (B) 3 (E)

(4) === (A). (D) #E (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (I) and Statement (ll) are true
(2) Both Statement (I) and Statement (ll) are false
(3) Statement (l) is true but Statement (ll) is false
(4) Statement (l) is false but Statement (ll) is true

= 2 T few T # -
F97 (D) : T IRATE THATE % SAR TR 0 A e S w3 o 2 2
Fa7 (1) - At W= TR Tl garl 2 6 56 TRE OEn @ sEm e =iE atew e T8

waTd 2 6 59 0 aEm e 2

IYI U % AT |, A= B e § ® HEl 39 w0 =ae it

(1) == () # (I0) 2F 927 2
(2) = (1) #A (ID) 31 1T B
(3)  F (1) "ca 2, A wua (1) 57T 2|

4) = (1) 516 2, =k w9 (1) 99 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List I

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (l) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

Tft-1 % =19 g=i-11 1 frem fifm)
-1 Tt 11

(A)  Frfamon 6 warie & w9 9 gie (I) =&l g1 =1 & 98] AW i 2 99 WEe



Hl

(B) =Wm F F9H (II) werEl W A 2
(C) fafea Fam = sgmaw & (III) sHfET T=TEl 9 &1 2|
(D) FATUA =] ST AT 7 HaT (V) =FaitH T2] g1 21

= feu Tu faskedi ® @ w3 = =E Ao

(1) (A)-(D). (B)-(III). (C)-(IV). (D)-(II)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(I1II), (B)-(IV), (C)-(I). (D)-(II)
(4) (A)-(ID), (B)-(I), (C)-(ILD). (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF W75 2 HOE 3 B B ¥ U A9 Hise @ o9 1 i R 2 T e fage o gua w2 oaw
T Tt Suety At 1 STUET SR § B S 991 § 5 3

1) = (FE) = 2 =13
(3)  difers &2 1S TiEA (4) ue =i St e

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2 Fua By v # ;v wiimu (Assertion A) % w9 H fafigd B Al FHI 0% #00 (Reason R)
HETH

wifaFe (A) e T AT REE H U AT [ Sy =Y ° SR e Smae)
1 (R) : A FR wege Hig G W AE | 5aiE A5 e w9 |

IV HIE = AR °, 9 5 T e 8 9 wEl 39w 59 it

(1) (A) 31 (R) 31 wc7 & & (R), (A) 1 981 ==men 2|

(2)  (A) 30 (R) = T &, =R (R). (A) i o8 = 765 2

(3) (A== 2, I (R) 27977 2

4) (A sm@e B, A (R) 9 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]



3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

T 92 W TEH B AEAT % 4 HEIEd RS R % S8 FH  gEeEe i)

(A) 1500 M Bytes
(B) 5 K Bytes
(C) 1 G Bytes

(D T Bytes

Hr fou Tu fasheqi # @ ®F1 3w 1 979 Hifaw

(1) (D, (A). (C). (B)
(2) (A D). (0. B
(3) (A (B). (C). (D)
(4) (D). (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (ll) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

FATEA F HAd H O =g oF - e am w, = 2w fmmm E

w7 () : TE-FT Fl I 529 H F9 w2
F (II) : AE-FTE F A W sy il S FA ATE A W W T2 G 1w 2

IV YA % AR |, qr9 2 T e § | 'E 39 == i

(1) =34 () =i (ID) 31 |9 2
(2)  =wue (1) A (1) 241 *1@eg 2

{3y T Ty T=T & =52 =ug (TT) 2= =



(4) =% (I) 99T &, wiiba ®9A (1D 99 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

=1 % e g=-11 7 e i)
-1 11
(e it 1ss) (srrsr)
(A) OCR (I) ZfFa =1 seataiEa sl &1 =64 4 F
ferw wger =i 2
(B) OMR (I) w-Taedia wheman # ¥% 729 F+ & foo
(C) Email (ITT) THT=ToT FrgHeRT
(D) Instant Messaging (IV) #HHI mujH:Jh«H
Fr= fau U feepeal | @ WE 3T w1 = it
(1) (A)-(ID), (B)-(I), (C)-(AV). (D)-(111)
(2) (A)-(ID). (B)-(I). (C)-(IIL). (D)-(IV)
(3) (A, (B)-(IL), (C)-(IID). (D)-(IV)
@) (A)-D), (B)-(IL), (C)-(IV), (D)-(III)
Match List I with Last IT:
List I List IT
(Computer Terms) (Purpose)
(A) OCR () Used to scan typed or handwritten
documentsa
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (III) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

(1) (A)-(ID), (B)-(I). (C)-(IV). (D)-(I1I)

(2) (A)-(IT), (B)-(I). (C)-(III), (D)-(IV)

(3) (A)-(T), (B)-(IT), (C)-(ITT), (D)-(IV)

(4) (A)-(D). (B)-(II). (C)y-(IV). (D)-(I11I)
[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

freafafias & 8 F9-91 T TS w1 A FE e e 27

e T TR -~ _



(i) Hepd BlpHigdlRs L) TH=IRe 9eillles

[ty

(3)  TEH SIEATFESS (4) e

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frfarfiga 5 9 F-w =3l | gt S0 = =1 9@ 27
(1) (@)
(3)  FEA (4) ey

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

ffafan § o -t ol ey s Sedt B i IuE sy SR e a2 2
(1)  g%= (2) TEEHE TEEE
(3)  wEmTE (4) TEA

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

TITH TR 1 TAEE w5 A F "92Y § NMSHE fFHoafafas 9 9 e ggmer 27

(1) National Mission on Solar-Hydro Energy
(2) National Miszion on Sustaining Himalayan Ecosystem
(3 National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayvan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :

(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only



(4) (B) and (C) only
frafafed § o 77 ugut =1 wfage 79 591 & e 31T Ferarg o W oasdr 2 7

(A)  ATZESHE SEATFEES
(B) =T 921d (PMas)
(C) ===

(D) s

(E)  Anggd ATEEs

= f2u o faweal ®§ § HEl I % =9 FifAu

(1)  %a= (B). (C) ¥R (D)
(2) @& (A). (B) 211 (C)
(3)  =aa (B) #iiT (D)
(4) == (B) 3T (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
I= foan % #2904, AEEE T=OR TEeE 3 = S 8 uF aEass An 9 FyiiE w=E F o
Freafeafiaa & 4 e o Tamma favea =i e famn o ?

(1) g = (2) WH A
(3) wEamd (4) TaTsH s

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
Listl ; ; ; ; Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

g1 = | g=i-11 %1 e fif)
g=f-I H-11
(A) wATTEH @ T
(B) wHAESET 1) =
(C) TA = AR =T () ===
(D) i &t o (IV) =

= f2u o fwedi § @ | 3 w1 v il

(1) (A)-dD, (B)-(ID). (C)-D). (D)-(IV)
(2) (A)-(IL), (B)-(I). (C)-(IV), (D)-(III)
(3)  (A)-IID, (B)-dD). (C)-D). (D)-(IV)



(4) (A)-(IV). (B)-(IIL), (C)-(IL). (D)-(I)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

7% T ifa (ua € d1)-2020 ° w3 < i vs Fi e F= w wwE 2| 9w e F fatea wwe e 27

(A)  diEifER 4 sgEeE #E FamEE 5 A Few d=n e

(B)  =iferma =i AmeH =g WEifR % TEE % e § e % g9 EE-TEE 50 OF 09 g9ed FE1

(C) =t qE WAt Fi wREl 35§ TEEaT g FRa e w it F6)

(D) =W qft=El, F SR JoE 9fEdT # &9 © dTew gHifed & @ e eg e
Sefersi| =1 T WA §U HaUga ATEaE TA A

(E)  foren dtenifiehi 5 siffg® 27 Gxamrd amansti =0 (Hai s

= fou U faekeal # | HE IO 1 9 it

(1) === (A), (D). (E)
(2) == (A), (B). (E)
(3)  Fa= (B). (D). (B)

(4)  Fa= (A), (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM
(B) PARAKH
(C) SWAYAMPRABHA
(D) DIKSHA
(E) MOOC
Choose the correct answer from the options given below :
(1) (A), (B), (E) only
(2) (A), (C), (D) only
(3) (B), (C), (D) only
(4) (©), (D), (E) only
Fresferf & -3 -t 7 87

(A) I

(B) RLEE]



(C)  F==3UHn

(Dy e
(E) D

=1 feu u faemedl § | HEl 391 1 =89 FA

(1)  #F= (A). (B), (E)
(2) == (A). (C). (D)
(3)  F== (B). (C). (D)
(4)  #a9 (C). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

I UL TIE 29 g A 2015 # Aad fawm wa-4 ¥ getgd Seligd 8 9 w-u 95 s

T e
(1) 379 T IR qge! (2) TUTETOER Toe
(3) T IMEA (4) FE FEER U SATEEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C
Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHOQO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World

Bank projects a US $110 billion decline in remitttances this year, which could mean 800

2T e les el et T abBloa o mrroat 2 oase o maen ayvee s T o
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HIAFT T FHF5-19 TEME 201 099 w1 AYdE 379w =R g9 i e faveag & an o wem
St A 21 Tt @i % sifam 241 4 ofern @ soe I3vE % WY T AE HIERCH L BISH Teah
TEET B 9 2| O OF @S F9 H 10 T o SO FH T 95 7 AR A WA
ST SEEAE A ISE1 95 W A Wed 9% ARWA SRS G%e § FA AfU® 3, 9% U ey
aETfaE-AfE wwz i B 29 # UcA® AR THE UWiPd | E% SRR @EilEs g HR
TSI AT TS a7 T ofse GEE a T O e A1 2| G U8 S @i ANGE qiqui
(ferarft) @ 7 w3 & ft o 7011 9 T = w2, W @ T fovg TR we & medm ¥ A
e ged gggi w ff 4@ W & a9 3 dfvaw A st FEeE % owd w0l g w s
TH-IAE T Agea § O R T 2| W S A S R e e w 2| 3% 6o o e
w9 GEFE B e WA g g gl R viee 3 wHg-te Wel 9% B SAaUsiE 99 E@eT w6
w9 & R 400 fafemm (40 =rs) <M =i ARl s wwdl 21 fava s A ATEE S 2 R os| A
o-Te (ifedE) 4 110 faferm smfeh sen i =t st seem sty 2 7 800 faferm (80 +Us)
A AT S et g w § geed T8 A A

major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health

Tgdi™ Tavargg = =12 fava =1 Uog w31 e 58 &9 4 5 27

(1)
(3)

PPN O i
eI (4) =

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]

1
2]
3
4

A W N -

Option ID = 8205]
Option ID = 8206]
Option ID = 8207]
Option ID = 8208]

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1s suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and 1ncome, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US $110 billion decline in remitttances this yvear, which could mean 800

million people will not be able to meet their basic needs.

TS I AEEHYEE U 9T $HF @15 4T T W9 H I 2|

FHAFT TEE FG5-19 FEMRT TR 759 F AYTIS I79F T2 Fhe 3R fgm favedg & o i aow
g A 2| et a4 % sifam 241 | uften § sue 3299 % W19 9% G S i BigH Ui
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b o U R e BN S e B R ) B o B 5;9:5, b BR B SRR R b e L B i A L B e L R | B '-K\l =HiME 5 oilmt i
T SEEAE A IS 93 1@ 2| Wed 9% WEWNl W G ° Fa 9% 2, 98 Uh SYayd
aETfaE-AfF wwz i B 29 F UcAE AN THE UWiEd 2| E SRR @EiEs g HiR
Tt 7= T5H 9 7 o ©Ts T 9% TR O @ 91 3| 59w 0 5 At s gt
(fearft) @ 7 w3 & ft o 7011 99 T = w7, W @ T e e we & meEm ¥ A
e ged gegl w ff 4@ w8 a9 3 dfvaw amdE artEn FEeE % owd w0 ol g w s
THTAF T Agcd § O R T 2| W G S A e o e e 1w 3| 3 6o o uiiesfe
w9 GEFE B W W g g gl R viee 3 wHg-te Wel 9% B S#algiEa 99 E@eT w6
g & TR 400 fafemm (40 =rs) =iom i St 1 wwdt 71 fava d% 4 wTEE w2 o s ad
w-maur (ifedm) 4 110 fafeme smfeh g 6 = smof| soew sifqum 2 B 500 fafemm (80 =ug)
S AT g SEt S g e | gwd T A

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

HemE] = Fefefiag @ o TR &3 w g =195 e 27

(1)  wmr (2) i
(3)  =mm ER v (4) TFEEAR

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

A w N =

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family 1= suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T W AEGHEE U2 9T 39 915 T T we % 5 2|

HAFT TEE HIF5-19 TEME 501K 599 F SYdYs 4796 S g9 3R g favag & e o mem
ot g 21 fowet =@ % wifom B4 4 wRen 4wk 329E % WY FE A HIEREH i BISH Terh
TEET B B 99 21 3 7 3@ B9 4 10 9 S S 9 & g9 7 R ol aeEa w5 R #
YT AT A I U TE 2| Weg T UEMN TN HEZ ¥ A AUE 2, TE UH Sgagd
aEfAFR-AEE gz f1 2| W W TS ARG THE UAEIEA 2| 36 A weEaw oAnds Hn
(fait) @ 7 w= < ff o T 99 T = T R, W § 7 fovg R e & 5eEe E uw
wWEe "edl 953 # W 2@ W 2 99 9% dfve® ueEE et FEee % e W d g u s




T-TAE % ged § o R T 2w S e S ol amm e w 2| 3= T8 e o afdfesfe
w8 TS B e W AR BN g U9 R s i Ng-ae el 9% B dasE oW 5 W
FIEA & R 400 fafemm (40 =s) = 1 SeBie S awdl 3| fea S 9 sgEm s 2 B osm
w-tm (3fem) 4 110 fafems smieh sen 6 =i snoft) see sifae 2 % 500 fafe= (0 =40s)
SR AT G e w g0 WA § gad T@# A |

Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica
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[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]

A wWw N =

1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socic economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 300

million people will not be able to meet their basic needs.
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC
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(1) UNDP (2) UNICEF
(3) UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
. 4 [Option ID = 8220]

A w N =

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family 1= suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]






